商务英语基础2期末复习资料（2016.6）
Part I. Multiple choice（15小题，每小题2分，共30分）
1. We always buy products with the          sales performance.

  A. most     B. much          C. more         D. best

2. I        your company to send someone this morning.

  A. did ask   B. has to ask      C. am asked      D. had asked

3. Offer me a better price and we can do                .

  A. commission   B. business   C. compromise   D. concession

4. He just learned that all business letters must be signed         .

  A. for read    B. by mark    C. by hand       D. to handle

5. We can make the new research an           priority.

  A. obvious    B. entire      C. expensive     D. absolute

6. Your salary increase was conditional on your         a concession on the car.

  A. making   B. producing   C. giving       D. marking

7. We trust you will do your best to have the matter ____ at once.

   A. settle        B. settle down   C. settled      D. settles

8.No credit will be offered ____ you place an order for more than 40,000 units.

  A. after    B. till           C. when       D. unless

9. The price of our new toys is 30% _____ than ____ of similar toys of American origin.

  A. below…..those             B. lower……that

  C. under…..that               D. lower…..those
10. Our sales brochure for this summer should be             by the end of July.

  A. ready       B. ingenious        C. exciting       D. exact

11. Please hold the line, and I will                 you the right number.

  A. assure      B. mean           C. mark        D. tell
12. Do you have time to go         all the details in the agreement before you leave?

  A. onto       B. into            C. down       D. off

13.           , three months ago I could not have negotiated this deal.

  A. Partially   B. Obviously       C. Especially    D. Entirely

14. This result          my research. Can you see it?

  A. proves    B. approves        C. values       D. welcomes

15. --- Here is the company structure of Bibury Systems.

   --- I see. Where does Kate fit       the company structure?

  A. in   B. with   C. into    D. onto

16. We employ about seven hundred full-time people. But we       causal staff when we need them.

  A. taken in    B. take on   C. check in  D. check out

17. Sally,       you have arranged for me tomorrow, it’s cancelled.

  A. what    B. whatever     C. whichever    D. however

18. These are their R& D laboratories. They have a very big budget. They      five percent of their profit to that department.

  A. thank    B. contribute    C. commit     D. make

19. Sorry, I was delayed. Shall we get straight down        business?

  A. onto     B. into    C. on    D. to

20. Could you       the appointment        next Monday?

  A. rearrange, for    B. rearrange, until   C. rearrange, at   D. rearrange, in

21.        if we talk about the technology you use in the new product?

  A. Do you want    B. Are you minded   C. Do you mind    D. Can you allow
Part II. Complete sentences.（10小题，每小题1分，共10分）
【A】
1. The newspaper article in last week’s Times…

2. We very much appreciate your efforts…

3. She has worked very hard to find a solution to…

4. Those figures show…

5. I have the authority…

A. to make this product possible

B. to negotiate with you

C. has done damage to our reputation

D. what seemed an impossible problem

E. our production costs must be no more than 15 percent.
【B】
1. We have a turnover of over fifty billion dollars…

2. The company really needs the fax machine by tomorrow…

3. Because we can’t find a compromise…

4. The presentation was very good, …

5. I think the discount is higher than anything…

A. I am afraid we can go no further.

B. or it will have to look elsewhere.

C. but I got nothing out of it.

D. we’ve ever given before.

E. and there are two hundred and sixteen thousand employees worldwide.

【C】
1. The engineer recommended…

2. I have a small token of our gratitude…

3. The two parts reached no solution on the final item…

4. The researcher has to start looking for a company…

5. We need to consider a couple of options…

A. that values his new ideas.

B. which is the Mark 2 project.

C. which I would like you to have.

D. that the process can be made simpler.

E. when we look at this question.

【D】
1. I am pleased…

2. The new executive has done well to make the wholesaler agree…

3. I just received a proposal…

4. The seller was trying to sign a substantial order…

5. A provisional agreement is one…

A. that is made with certain conditions.

B. that you have finalized the delivery dates.

C. that could benefit both of us.

D. then he could get a large discount.

E. to be more flexible over terms of payment.
Part III  Reading Comprehension. （10小题，每小题2分，共20分）
Directions: There are 2 passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are three choices marked A), B), and C)， You should decide on the best choice.

Passage 1

Questions 1 to 5 are based on the following passage:
Large companies need a way to reach the savings of the public at large. The same problem , on a smaller scale, faces practically every company trying to develop new products and create new jobs. There can be little prospect of raising the sort of sums needed from friends and people we know, and while banks may agree to provide short-term finance, they are generally unwilling to provide money on a permanent basis for long-term projects. So companies turn to the public, inviting people to lend them money, or take a share in the business in exchange for a share in future profits. This they do by issuing stocks and shares in the business through the Stock Exchange. By doing so they can put into circulation the savings of individuals and institutions, both at home and overseas.

When the saver needs his money back, he does not have to go to the company with whom he originally placed it. Instead, he sells his shares through a stockbroker to some other saver who is seeking to invest his money.

Many of the services needed both by industry and by each of us are provided by the Government or by local authorities. Without hospitals, roads, electricity, telephones, railways, this country could not function. All these require continuous spending on new equipment and new development if they are to serve us properly, requiring more money than is raised through taxes alone. The Government, local authorities, and nationalized industries therefore frequently need to borrow money to finance major capital spending, and they, too, come to the Stock Exchange.

There is hardly a man or woman in this country whose job or whose standard of living does not depend on the ability of his or her employers to raise money to finance new development. In one way or another this new money must come from the savings of the country. The Stock Exchange exists to provide a channel through which these savings can reach those who need finance.
1. Almost all companies involved in new production and development must                 .

a. rely on their own financial resources

b. persuade the banks to provide long-term finance

c. depend on the population as a whole for finance

2. The money which enables these companies to go ahead with their projects is               .

a. repaid to its original owners as soon as possible

b. raised by the selling of shares in the companies

c. exchanged for part ownership in the Stock Exchange

3. When the savers want their money back they                   .

a. ask another company to obtain their money for them

b. look for other people to borrow money from

c. put their shares in the company back on the market

4. All the essential services on which we depend are                    .

a. run by the Government or our local authorities

b. financed wholly by the rates and taxes

c. in constant need of financial support

5. The Stock Exchange makes it possible for the Government, local authorities and nationalized industries            .

a. to borrow as much as they wish

b. to make certain everybody saves money

c. to raise money to finance new developments
Passage 2
　　Questions 1 to 5 are based on the following passage:

The digital revolution, as exemplified by the Internet and electronic commerce, has shaken marketing practices to their core. In a recent paper, Wharton’s Jerry Wind, director of the SEI Center for Advanced Studies in Management, and co-author Vijay Mahajan, a marketing professor at the College of Business Administration of the University of Texas at Austin, examine the impact of digital marketing on concepts like pricing, when customers can propose their own prices (priceline.com), or buyers and sellers can haggle independently in auctions (e-Bay.com).
   The paper provides an overview of some of the emerging realities and new rules of marketing in a digital world, and outlines what the new discipline of marketing may look like in the early part of the new century.
    To begin with, say the authors, the rapid-fire growth of the Internet is helping to drive changes. “It is not just our computers that are being reprogrammed; it is customers themselves,” says Wind. “These emerging cyber consumers are like an alien race that has landed in the midst of our markets. They have different expectations and different relationships with companies from which they purchase products and services.”
    For one thing, cyber consumers expect to be able to customize everything — from the products and services they buy and the information they seek, to the price they are willing to pay. And with digital technology opening new channels for gaining information, they are more knowledgeable and demanding than previous consumers.
    Digital customers can also sort products based on any desired attribute, price, nutritional value, or functionality, and they can easily obtain third-party endorsements and evaluations, tapping the experience of other users. “Companies that cannot meet their demands and expectations will be at a loss,” says Wind.

1. The passage was most likely to be quoted from______.

A. an introduction to a book                 B. a book on digital revolution

C. a paper discussing digital revolution

2. The paper mentioned in this paper was written by______.

A. Jerry Wind          B. Vijay Mahajan         C. Jerry Wind and Vijay Mahajan

3. From the third paragraph, we can infer that______.

A. the customers are also reprogrammed by computers

B. e-business companies need be more knowledgeable about cyber consumers

C. cyber consumers are a group of strange people

4. Compared with traditional customers, the emerging cyber consumers______.

A. are more difficult to satisfy             B. have less knowledge about business

C. have more problems with prices

5. What is mainly discussed in the passage? ______

A. the impact of digital marketing on concepts like pricing

B. digital revolution               C. digital marketing
Passage 3
Questions 1 to 5 are based on the following passage:
Greece, economically, is in the black. With very little to export other than such farm products as tobacco, cotton and fruit, the country earns enough from ‘invisible earnings’ to pay for its needed, growing imports. From the sending out of things the Greeks, earn only $285 million; from tourism, shipping and the remittances of Greeks abroad, the country takes in an additional #375 million and this washes out the almost $400 million by which imports exceed exports.

It has a balanced budget. Although more than one drachma out of four goes for defense, the government ended a recent year with a slight surplus -- $66 million. Greece has a decent reserve of almost a third of a billion dollars in gold and foreign exchange. It has a government not dependent on coalescing incompatible parties to obtain parliamentary majorities.

In thus summarizing a few happy highlights, I don’t mean to minimize the vast extent of Greece’s problems. It is the poorest country by a wide margin in Free Europe, and poverty is widespread. At best an annual income of $60 to $70 is the lot of many a peasant, and substantial unemployment plagues the countryside, cities, and towns of Greece. There are few natural resources on which to build any substantial industrial base. Some years ago I wrote here:

“Greek statesmanship will have to create an atmosphere in which home and foreign savings will willingly seek investment opportunities in the back ward economy of Greece. So far, most American and other foreign attempt have bogged down in the Greek government’s red tape and shrewdness about small points.”

Great strides have been made. As far back as 1956, expanding tourism seemed a logical way to bring needed foreign currencies and additional jobs to Greece. At that time I talked with the Hilton Hotel people, who had been examining hotel possibilities, and to the Greek government division responsible for this area of the economy. They were hopelessly deadlocked in almost total differences of opinion and outlook.

Today most of the incredibly varied, beautiful, historical sights of Greece have new, if in many cases modest, tourist facilities. Tourism itself has jumped from approximately $31 million to over $90 million. There is both a magnificent new Hilton Hotel in Athens and a completely modernized, greatly expanded Grande Bretagne, as well as other first-rate new hotels. And the advent of jets has made Athens as accessible as Paris or Rome – without the sky-high prices of traffic-choked streets of either.

1. The title below that best expresses the ideas of this passage is_________.

A. Greek income and expenditures

B. The improving economic situation in Greece

C. The value of tourism

2. Many peasants earn less than _________.

A. $60 a week           B. $2 a week             C. $1 a day

3. The Greek Government spends __________.

A. more than 25%of its budget on military terms

B. More than its collects               C. A third of a billion dollars in gold

4. According to the passage, Greece has _________.

A. a dictatorship            B. a monarchy            C. a single majority party

5. Greece imports annually goods and materials __________.

A. totaling almost $700 million      B. that balance exports      C. that are paid by tourists
Part IV Translate the following sentences into English.（每小题2分，共20分）
1. 我们现在有一个新的质量保证体系。
2. 菲尔（Phil）说明天之前准备好一切是不可能的。
3. 你能告诉我我在这张地图上的确切位置吗？
4. 下周我们将飞到意大利和埃及去见那些海外经销权拥有者。
5. 恐怕我们别无选择。我们不得不终止合约，另找供应商。
6. 尽管他说的订货数量很大，但他要的条件已经超出了给我的授权。
7. 我已经准备了一份详尽严谨的生产成本分析。
8. 你和市场营销部的人开个会，看有没有其他选择。
9. 我听说你们要和日本的一家不错的公司合伙。 
10. 我希望你能根据以下几点重新考虑你的决定.
11. 他们按时、按规格、按价交货是必需的。
12. 他们敌不过我们的价格、不能同我们的电视广告攻势竞争。
13. 我想知道你们采取什么措施来补救这种情况。
14. 我们的声誉是建立在产品的可靠性和良好的客户关系上的。 
Part V Translate the following sentences into Chinese.（每小题2分，共20分）

1. They have a very big budget. They commit five percent of their profit to that department.
2. We learned at this stage that it was a low cost high volume mass market product. 
3. We’ll get some examples of the display materials to you and there will also be a point of sale video of the product.

4. I’ve just heard you’re going into partnership with a rather good Japanese company.
5. Their strategy is very clear: they want our share of the market, both the European market and the export market.
6. In addition, Bibury Systems are prepared to offer your customers a discount of 15% on the recommended retail price.
7. This will damage our reputation in the market place and it’s very embarrassing for us.
8. I wondered why you were going out of your way to give me a lift.
9. We need to make it clear that "Big Boss"is an absolute priority.
10. We have a product that can give the user more than anything else on the market.
11. In fact our Chief Executive appointed an American as Director of Marketing and Sales.
12. We hired a fax machine from you and I would like to cancel our rental agreement.
13. We can deliver that in three consignments over the following three months. 
14. If you accept a fifteen percent increase in salary then I can add an extra five percent on that bonus figure.  

